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1. ma;maaaﬁaﬂﬁmﬁwmmmgaﬁmwmﬁﬁaaqﬂm$

You have been called for the written test based on the oniine data fumished by you in the web application.

If you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

2. %199, 80 WRAl § Pobd RA-YRaH & & 7 ¥ 3R odew v 3@ 90 e B

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is
90 minutes.

3. IR et Wi aEgiss YR & wea g O O % e iRy w9 & wE @

The questions will be objective type with four options out of which only one will be unambiguously correct.

4. 9 9T HAT 01 3 g IR v T 3eaw FAT 0.33 375 HreT S|
Each question carries 01 mark and 0.33 marks will be deducted for each wrong answer.
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5. et & 3o & & T Fe Rl ufy FRe e SeEaR scaR-gReas & see
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer opfions.

6. M9l Arel/hiel TR F dauEse 9 § ATANR Ica-qieae § dEfta sdfaw & sifwa
FT TEN el FT 9qA AT &

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

7. UF G & TAT 30 3ca¥ Ied 3o AT AT
Multiple answers for a question will be regarded as wrong answer,

8 FW el BN F ARG UeA-9RaH & P A MNUANR ScR-yfeasl & R av wue «
forge_arfru)

Question booklet code printed on the top right comer should be written in the OMR answer sheet in the
space provided.

9. UYT-YREAS H IUHN ATH TUT ITHAF TE o |
Enter your Name and Roll Number correctly in the question booklet.

10. MNTAIR Fca-Iiea # Fh gfafeear Aeiveeh vadt & aie w@eds @ & & aEr akw
All entries in the OMR answer sheet should be with blue/black ball point pen only.

1. et gia 7 Piers fr sufyfa &§ & v ga-fee W geanr s@r TR
You should sign the hall ticket only in the presence of the Invigitator in the examination hall.

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

14, RA-YRcr 3l 3o Iw @ wwa §
The question booklet can be retained by the candidates.

15, e & 2N et @t o gl alse &Y Rt T B

Candidates are not permitted to leave the examination hall during the examination.
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dhalh TEE - g / TECHNICAL ASSISTANT - R&AC

100% TARF HEAT T I a9 T ANAM, YF Tod ATGHATT g g

The wet bulb temperature at 100% relative humidity is dry bulb temperature.

(a) ¥ THA /Same as (b) ¥ #A /Lower than

(c) & ATF /Higher than (d) 3TFF A FIS AFT / None of these

el W HAefar e § safdaea s & oo F wwg aamar el &l
The central air conditioning system has overall efficiency as compared to
individual systems.

(a) THT /Same ()] s / Lower

© IO { Higher (d) ZAH 9 P G / None of these

YF Toa avA AN A g aToee & fiT F IR B Far e §
The difference between dry bulb temperature and dew point temperature, is called

(a) YF o9 HAAE/ Dry bulb depression

() %z To= 3THE/ Wet bulb depression
(© 3Ng ﬁ§ IR / Dew point depression
(d) HT #r 33/ Degree of saturation

HAHRT M Wheter FrRf@a weliad womel W Rt ) §

Most of the domestic refrigerators work on the following refrigeration system
(a) a7 HNFT / Vapour compression

(b) AT HTAWUT / Vapour absorption

(¢) @mfe T / Carnot cycle

(@) goFgrewd wliae 9% / Electrolux refrigeration cycle

T Seieh & UREFT uF fY Gt el 9w —— ¥

With the perfect regenerator the efficiency of Ericson cycle is ——————— Carnot Cycle.

(@) W 3O/ Greater than ®) & sUsY/Equal to

(¢) ¥ #H/Less than (d) 39NFT H F FS FET/ None of the above
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welid &T U o7 8T &

One ton of the refrigeration is

(@) welas GHEAHT F HIFT AR Z&TS / The standard unit used in refrigeration problems
®b) 1T % Rgesr & Scdeet MddsT Wa / The cooling effect produced by melting 1 ton of ice

(0 24%E F 0°C 9 1 & 9T F 0°C U T H sgaar FT Wllast GHT / The refrigeration
effect to freeze 1 ton of water at 0°C into ice at 0°C in 24 hours

@ 249 # 1 &7 956 s & AU m@asd MWhsiie M &1 gegA™ / The mass of

refrigerant gas required to produce 1 ton of ice in 24 hours

Ww#@mﬁmqﬁzmﬂmmmmm%

The suction pipe diameter of refrigerating unit compressor in comparison to delivery side is
(a) ‘ 37/ Bigger

(b) BT /Smaller

(¢) &Y /Equal

(d) &Fdr F WUR 9T BDITHEST / Smaller/bigger depending on capacity

Wﬂwwq&wgﬁgﬁmmﬁmwa&ﬁmm%
What is represented by inclined straight lines, uniformly spaced on the Psychometric chart?

(a) |MTEF 30T / Relative Humidity

(b) 9T FoF FT d9HT / Wet Bulb temperature
(¢) UT4eHT / Enthalpy

(d) Yok Fod BT d9AT / Dry bulb Temperature

TF 240V, 120W A7 7 Faler GioRier §
A 240V, 120W lamp has a working resistance of

(@ 29 h 600
© 120 (d 4809
TF FRAHEY AT &

A hygrometer measures

(a) TNAF 3T/ Relative humidity

(b) TATYET HEAT / Absolute humidity

(¢) ¥Bd oo Ui & dAR / Temperature of flowing liquids

(@ &ar fr IfEe 3gar 3R g919 / Relative humidity and pressure of air
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11.

12.

13.

14.

15.

16.

FTARKR H 3 & 4 Q FAQUH F 15 Q Yol F arer A@an F shgr 3w §1 aRwwr v
TAGET Wi §

Two 4Q resistors connected in parallel is connected with a 15 Q resistor in series. The
equivalent resistance of the circuit is

(@) 17Q b 23Q

©0 8Q d 19Q

TS5 AaT T 3T A & fore frar aer &

Surface table is used for measuring

(a) H9Edr / Flatness (b) KT / Straightness

(¢) 7S /Roundness (d) T / Squareness

dRaw Sterarg @ #r wigar # gfE & Taw &

Globall climate is threatened by the increase in the concentration of

(a) 3IFAST / Oxygen (b)  STSerae / Nitrogen

(¢) STl ar™q / Water Vapours (d) A= g39 FF / Green house gases

¢ T1 3R T2 Rad FEle o & staan 3R Reas BRde amae & & coPauat &

If T1 and T2 are the highest and lowest absolute temperatures of a Reverse Carnot Cycle
then the COP is equal to

(8) TI(T1-T2) (b)  (T2-T1)/T2
© (T1-T2)/T2 (d T2(T1-T2)

The dew point temperature is always an indication of
(a) &aT 3 T HT AMET / moisture content of the air

(b) HIFFd FSAT /latent heat
(¢ &ar&r YSHAT / dryness of air
(d) &ar & Naaan / coolness of air

A Y SURRURY & WY UF AT T oGO AT T g

The insulation ability of an insulator with the presence of moisture would

(@) gf&/increase

(b) 3wafad WA &/ remain unaffected

(¢) AT/ decrease

(d) Fl'ltlm’-’l'mﬂﬁﬁm@fm*qu&mmﬁmglmayincreaseor

decrease depending on temperature and thickness of insulation
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17.

18.

19.

20.

HH AAW IR gaE W, Whote & ardienor i qod FeAT
At lower temperatures and pressures, the latent heat of vaporisation of a refrigerant

(a) FA B AT §/ Decreases

() «g S §/Increases

(c) TE T ¥/ Remain same

(@) 3=g FRS W IR FI@ &/ Depends on other factors

ffof@d daR & @ W e RFaR & AT 39aR0r #1 39309 T §
A domestic refrigerator uses the following type of device for expansion

(a) uHECIe® & / Thermostatic Value
(b)‘ FAFT &gd / Capillary tube

(c) giefola aﬂ / Throttling Value

(@) TIEiT T / Pitot tube

Wi RETa &1 91 g cann &9Imar it gwar §?
Freon leak can be detected by
(a) '\'1?[?1' @1 / Smelling

(b) ST §'§ AT &1 dlell garT / Lighted match stick
(¢) uewx f&e® €@RT/ Sulphur Stick
(d) ¥em3s o ZanT / Halide torch

T fraler #, afe P R @1 S dauAE at Weeer & @il F9 Femr o
T 87

In a refrigerating machine, if the lower temperature is fixed then the COP of the machine can
be increased by

(a) 3T QA9A H q‘% SaRT/ Increasing the higher temperature
(b) 3T AYATT P HH TP / Decreasing the higher temperature
() FMT F FA AAfcT I TATHT / Operating the machine at lower speed

(d) FMT * H1UF a1fd W T/ Operating the machine at higher speed
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21.

22.

23.

24.

25.

26.

Aol & ¥ wias qorel & va wameneE Tz F e T # area g 22
A reciprocating compressor in a refrigeration system has the following type of valve
(a) Yi9IT aTeqd / Poppet valve

(b) WSS aea / Solenoid valve
(e faaer area / Butterfly valve
(d) T ared ar Redr areg / Globe valve or Rotary valve

FegdA T Reonledr arer et &

The material with highest thermal diffusivity is

(a) @ /Iron () HEr/Lead
(¢) FHIE / Concrete (d) %3 / Wood
1.5 kW ST S@RT 5 fAsie & 39gir 1 e arel FaT g

The energy used by a 1.5 kW heater in 5 minutes is:
(a) 15kd b) 450kJ
(¢ 75kJ (d 450J

PefRfaa # ¥ 7l & Sk S9 TR | W) 3wl e

During summer, a desert cooler will be useful in which of the following place?
(a) ﬁﬁﬂﬂg‘l’ﬂ' / Thiruvananthapuram

() V=5 / Chennai
(¢) #% feeolr / New Delhi
(d) HPR / Srinagar ‘

CO: B ————— & ®7 & ARG har 4w §

COz is designated as .

(a) R754 (b) R745

(0 R743 (d) R744

HageT 3N AT @ GEAARG FAT F HTINT P ———— Fgl AT B

The ratio of energy transferred by Convection to that by Conduction is called

(a) ¥Eed WEAT / Stanton Number (b) T &I / Biot Number

© ﬁ@?c" HEAT / Nusselt Number (d) ¥esd TEAT / Reynolds Number
7
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27.

28.

29.

30.

31.

Wrsie & 71 1 fFEs Z@RT gorEm AT 82
The moisture in a refrigerant is removed by

(a) ardEFRUEAT / Evaporator

(b) dar™T UFA dled / Vapour relief valve
() TREFRF / Dehumidifier

(d) S /Driers

Ay & T W AT Y TS T A7

What is the unit for measuring the amplitude of sound?

(a) FHeFS / Coulomb () 3H /Ohms

(©) I / Watts (d) W& / Decibel

Fl A w 37 At B Gt A A T F THA gerdr g7

Which machine removes material at faster rate, in comparison with other machines?
(a) TRIE /Lathe

(b) IR oY $r 72M= / Shaping Machine

(¢) fRT m2l= / Milling Machine

(d) 9rExr Fr 7AW / Grinding Machine

1 e et & A9ATT 0° C ¥ 373 K % §gi9 & T 3traedes FoAT &Y AT §

The amount of heat required to raise the temperature of 1 litre of water at 0° C to 373 K is
(a) 100 kdJ (b) 373kd

{¢© 100 kcal ) (d) 373 kcal

WA (R-600a) HR a1 (R-290) F galaaies Ifhoiew & qoen & wdg faram o &
FaifR

Isobutane (R-600a) and propane (R-290) are preferred over halogenated refrigerants
because of

(@) FH WA, 3Td Fal 83T/ Low cost, high energy efficiency

®b) FH Sadalaar dR FA Urw d9AW / Low flammability and lower attainable
temperatures

(¢) FH N GFIFN 8771/ Low ozone depleting potential
d) RBFeT (a) 3R ) T &, AP (b) A8/ Options (a) and (¢) are correct, but not (b)
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32.

33.

34.

35.

36.

g FHT TUETAOT T THFR Sl Oelcd ) Ya0Iar ¥ e F axar &
Density gradient assisted heat transfer is

(a) WONfEd HGgeT / Forced convection
(b) BTITﬁ?F Hagsl / Natural convection
(¢) e / Conduction

(d) fafRUT / Radiation

& T Wit (1TR) 1 ———— FSAT Joll Y ge & aXra< e ¥
One tonne of refrigeration (1TR) means that the heat removing capacity is
(a) 21kJ/min (b) 210 kd/min

(¢) 420 kd/min (d) 620 kJ/min

FAI A (FgFNT Ul W) W aEewr ¥ iy smer & oRatda @ @
AgART §

The temperature at which ammonia changes from liquid state to gaseous state is
(at atmospheric pressure Condition)

(a) 0°C (b) 33.3°C
(© 239.7K (d) 2238K

fFfeET & @ R weiiae gomel &, 3afise S &1 wemdr dor ¥ 39AeT BT ST O
7

In which of the following refrigeration system, waste heat can be effectively used?

(a) ar™¥ WA T% / Vapour compression cycle
(b) TS HITWYOT TF / Vapour absorption cycle
(c) T welld=T & / Air refrigeration cycle

(d) 39H ¥ FIS FEr / None of these

T O A ST A A 5 mm §1 T & AT awd o Rt A s w8

A length of the side of a cube is 5 mm. What is the length of the longest diagonal inside the
cube?

(a) 5mm ® 52 mm
(¢ 5V3 mm @  25V3 mm
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37.

38.

39.

40.

IUTdEAT IRATEA F IS0 F 3 ¥ |

In quality assurance, ISO means

(a) WA ARH H3A / Indian Standard Organisation

(b) IRTER AT HI&sT / International for Standardization Organisation
(0 IR fAfdsear TS / International Specification Organisation

(@ yafF 7aaF 3T d=rdeT / Internal Standard and Operations

el 3R-12 F T+ T 78 87
What is not true for the refrigerant R-12?

(a) agarmm#gﬁﬂmﬁmmmmmmmmmmccwz%/

Tt was a widely used refrigerant and has the chemical formula CCl2}"

(b) ST ITAT Bie T & WY-AY ave et ufy & s far Smar ar/ It was used for

domestic refrigeration as well as in liquid chillers, etc

(©) ﬁmmmm#mﬁmméaﬁﬁ:wmm&mcmﬂﬁ%ti

It is still widely used as it is less expensive, and is CFC free.

) € 3T RA F v giERs ¥ 3R ¥ R-22 @R gfawnfia fRar S T § /I
harmful to ozone layer and is being replaced by R-22

frfafad § w e Rwiee Weeex A1 fadwar g &
An auto defrost refrigerator has the following specialty:

(2) UF AIEURN At 3@ ¥ S G & / A Thermostat is attached to the

evaporator coil

(b) U T@T aqfeqs i?'s'?-r ¥ FUT gar $hehdl &/ A fan blows air over the evaporator coils

(¢) @y i:l;?ﬁl?ﬂ' ¥ FUL UF dI9F dcd el SAial & / A heating element is wound over the
evaporator coils

@) ey ety gﬁﬂ FT IGAT A& fRAT AT & / No evaporator coil is used

T qRfEERE SfFar F IRAY ¥ Y FSAT H M-I Tal B §7

In Which thermodynamic process, heat is not exchanged with the surrondings
(a) GHATYY/ Isothermal (b) THFHGET/ Isobaric
(¢) TRuUsH/ Adiabatic (d) TAETAS / Isotropic
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41.

42.

43.

44.

8¢ 9T & FeleT FT IONF gA T g gl

The coefficient of performance of Heat Pump is always one.

(a) & T/ Equal to
(b) & HH/ Less than
(¢) & 3®F / Greater than

(d) HFIET T Zarar A qgF T T F R 9w TR Far &/ Depends on efficiency of

compressor and type of gas used.

ueh wMaa worely

A refrigeration system

(a) mmﬁm&#ﬂﬁm%aﬂtsﬁmmﬁmmﬁqﬁaﬂ%f
Removes heat from a low temperature body and delivers it to a high temperature body

) mmmm#ﬁﬁmémsﬁmmmmﬁqﬁmﬁ%f
Removes heat from a high temperature body and delivers it to a low temperature body

© 3=9 IR A= auas & g == M3eYe 3cYe+ Tl § / Generates work output
between high and low temperature

d) +5 o 33T ReHT T Al FIAT &/ Do not provide any energy exchange

v e amAs w # AlS[g oAy ¥ FEIRS B AR AT Far e ¥

The mass of water vapour present in at a specific temperature is called absolute
humidity.
(@) 1 m3 96/ 1 m?of water (b) YF AT I md / 1 m?of dry air

(©) 1 fanmHE q a1/ 1 kg of wet air (d) lmm‘\’ﬁgaﬂlkgofdryair

wmga&aw3ﬁ:ﬁfmﬁam%3ﬂtﬁwarﬁ3ﬂta$4ﬁﬂamalamﬂﬁmﬁg
¥ fraeh T &7

A vehicle moves forward exactly 3 km and then moves left by exactly 4 km. How far is the
vehicle from the starting point?

(@) 9 AT /9km ®) 5 @A /5km
© 7N/ Tkm (d 16 BHHY /16 km
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45.

46.

47.

48.

49.

v TS F1 @ 20 B 3R Fard 10 AR §1 F waw e Rhae 67
A cylinder has a diameter of 20 mm and the height is 10 mm. What is the total surface area?
(@) 200 z T@32/mm? (®) 400 = TAFAR/ mm?

(¢ 100 = fA#HR2 / mm?2 (d 300 = fH#T2 / mm?

o2 S s affsas s die vonfet #, T gled w1 SN § F ST
frar ST #

In larger industrial and commercial reciprocating compression systems, refrigerant widely
used is

(a) IAAAT / Ammonia (b) A= IBAHTEFETSS / Carbon dioxide
(c) TSI SE3NFAEs / Sulphur dioxide (d) R-12

maqﬁmmﬁ»wmﬁmmtmﬁﬁmmmmmm
metmmﬁmmtmﬁmﬂwm%

The ratio of actual mass of water vapour in a given volume of moist air to the mass of water
vapour in the same volume of saturated air at the same temperature and pressure, is called

(2) TS Ieaid / Humidity ratio

(b) TEF 3EAr / Relative humidity
(¢ e HEAT / Absolute humidity
(d) H?[f?l’ #T 123 / Degree of saturation

e, ey {fee WheReX #, AR T gEaATer fRaT S arer v §
In a domestic vapour compression refrigerator, the refrigerant commonly used is

(a) CO: (b) 3AAIT / Ammonia
(© R-i2 (@ 3IEd | / All of these

33° C 3 —3°C ATTAE ¥ &g T W arer WroreX & COP & &
The COP of a refrigerator working between temperatures 33° C and -3°Cis

(@ 11 ® 75
(¢) 0.091 @ -11
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50.

51.

52.

53.

54.

55.

wreatas B At danet & e wgaa e gomeh §

The cooling system used for supersonic aircrafts and rockets is
(a) VI ag N YOI / Simple air cooling system

(b) EI‘\E'FECI'HTE =T WOTSIT / Bootstrap air cooling system
() @# uRAW Ty AT YoIel / Reduced ambient air cooling system
'GY) EI,F-I?JITG?I' arg el YOl / Regenerative air cooling system

Feaa#n farfesder gamg arer Whsie &

A refrigerant with the highest critical pressure is

(@& R-11 ®) R-12

(@ R-22 (@ 3A@AT/ Ammonia
fdiyer g & Sk, T T B

During dehumidification process, remains constant.

(@) &€ Fo9 HT dAIHA / Wet bulb temperature
(b) ANfEF HEAT / Relative humidity

(c) UYSH ded HI dMAT / Dry bulb temperature
(@) TaRrse EaT / Specific humidity

4 mm SIH T TF §3 Nt ¥ 2 mm AT Jiel T BIET Al el o 8 a2 Ay &
AY 3T fordar &2

From a bigger sphere of diameter 4 mm a smaller sphere of diameter 2 mm is removed. What
is the volume remaining in the bigger sphere?

(a) 28 /3 mm3 (b) 4 n/3 mm3
(¢) 8 7 mm?3 (d) 16 7 mm?

200 O VORI & UF AeH B oars AN A 75 ¢ AR FHHE WY FET e e
& feIr a1 81 suer Aar wiader &

The length of a conductor of resistance 200 Q is doubled and its cross-sectional area is halved.
Its new resistance is

(a) 100 Q b 800Q
{c) 508 (d 4008

TE 100 dlc 1 deq, ARG wF BT & A a9 fFrar S, ar Rsel sesal & @ua @ arelr
F ——— Bl
A 100 watts bulb, if switched on for a day, the energy consumed in power units is

(a) 2.4 b 06
() 100 (dy 2400
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56.

57.

58.

59.

60.

61.

vt & Wit wg &

Freon group of refrigerants are:

(a) fadar 3R WWEFF& / Toxic and polluting

® I A 3T I Saeedier / Non toxic and non-inflammable

(¢) Taderm, s SIE;\‘IW@TI'& #ABT / Toxic, but not polluting

(1) Ieafte saaae 3R JAF wguorsll / Highly inflammable and highly polluting

et & ®ia W@ ST Hr sFE T 7

Which is not a unit of energy?

(a) dIcd / Watts (b) S[H / Joules
(c) “fohell FE / k Cal (d & & g/BTU

fafad & ¥ Bl wwwor feger fr el s g
Which of the following forms the sides of a right angle triangle?

(a) 68,10 (b) 2,35

{¢) 10,15,5 (d 8, 10,12

arsy FdEa Wreiex F daree &1 TF 8

The cycle of operation in a vapour compression refrigerator is

(@) Wl F=fE / Reversed Carnot ® v I / Reversed Rankine
(¢) @MATE /Carnot (d ¥feT / Rankine

g o # JA-am=

The superheating in a refrigeration cycle

(a) WM. F aad= g FXar § / Does not alter C.O.P.

(b) .3, TGIAT § / Increases C.0.P.
(¢ .39 &7 FaT § / Decreases C.O.P.

(d) 37 | #F AE / None of these

freifafaa & gard s & weiider 3HaR T BFstT T 39T & §
Refrigeration in aeroplanes usually employs the following refrigerant
(a) CO: (b) W3HiE-11 / Freon-11

(¢) W3iA-22 / Freon-22 () a1 /Air
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62.

63.

64.

65.

66.

UF FET A asfRal B dEm 1 agHh B EEA F WU 5: 481 IR =W A 25 st €
or Fe 7 AgH A TEw §

The ratio of number of girls to the number of boys in a class is 5 : 4. If there are 25 girls in the
class, then the number of boys in the class is

(a 35 b 20

(0 30 @ 45

aad F Fw f Ao afaFa §

Mathematical expression of Boyle’s law

(a) WY = f&WF / PV = constant () & = fBEUF / V/P = constant

(¢) 9 f&w = & /P* constant =V (d) dr f&uge = & / V* constant =P

TR FEIAT 39aR0T F1 Fl @1 ST Sl SIS i WF dre fRar s 87
Which part of the air conditioning equipment is hermetically sealed?
(a) F3FW / Condenser

(b) asfieoERar 3t Rer AT / Evaporator and expansion value
(¢) gNfBT/ Compressor
(d) 39T T / All of the above

I ufpar F eke, _ 0000 «¢ Sar #

During humidification process, increases.

(@) 30 Fo« FT dM9AET/ Wet bulb temperature
() uREAF 3MEar/ Relative humidity

(¢) A= T« HT dAMAN / Dry bulb temperature
(@) faRre awar fspe;:iﬁc humidity

AN @RT St TFaT 91T g W QA 9 98 g1 F Aleg A & wnfad Jg g &,

EgAT §

The temperature of air recorded by a thermometer, when it is not affected by the moisture
present in the air, is called

(a) 3¢ Fod &1 AUHART / Wet bulb temperature
(b) Y6 ded &I dAMATT / Dry bulb temperature
() S dIA / Dew point temperature

(d) TTH W T AL / None of these
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67.

68.

69.

70.

71.

A Whenier gomelr & fow, 9o AN e FeaE A g7 fFad &= gl 32

For ammonia refrigerating systems, the tubes of a shell and tube condenser are made of

(a) &1/ Copper (b) Q’W@ﬁﬁl‘ﬂ'l Aluminium

(©0 TH /Steel (d) 9raer /Brass

AT FAT FT HAH % A= gl

The dimension of Kinetic Energy is same as that of

(a) 9o /Force (b) Z&1F / Pressure

(¢) 7T / Momentum d FF /Work

TFH TIX Hererfaer f@ves ar Weoer &, fRuARd gar & 5 &1 ey ——F
AETH @ gar Bl

In an air conditioning system or refrigerator, the heat dissipation to the surrounding/ outside
air take place through

(a) TRNTET / Compressor () FIT / Condenser

() TATaR 39T / Expansion device (d) M!Evaporator

THel-TROT AR T Jolelr # AF-U0T AT FT A1

The advantage of three- phase motors over single-phase motors are

(a) 9NTd HIATA / smooth operation

() fdr T 7 YO & IEITHAT 8T &/ no starting winding required
(©) W ater AT / relatively simpler construction

(d) F9UFa @I / all of the above

40 deg C WX 1 kg Ul &l G g & o9 & ol & A0 Mawgs AT (e FA &) &

Heat required (in k cal) for converting 1 kg of water at 40 deg C to fully steam

(a) 600 Gb) 210
(¢) 2394 d 60
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72.

73.

74.

75.

76.

WFIteT # wagHeeY F 39ENT dar §

The use of accumulator in refrigerator is

(a) TNET & ooy AT T wFT #A F A/ To collect condensate gases from compressor
(b) Irsiic FF 33 WA F A / For cooling refrigerants

(c) FSAT & HEHA-UE & foId / Exchange of heat

(d) IfFOT & qME W Whale F HSRUT & A / Storing liquid refrigerant after

evaporation

TAed AT W A0 S YHWT S gt Ihatew & YER A

The type of refrigerants with lowest impact on global warming is/are:

(a) CFC ) HCFC
(¢ HFC (@ CFC 3T /and HCFC
AT Wi YOTelT T AT &

Absorption refrigeration system has the advantage of
(a) WESARY FHT / Subzero Cooling

() & fasel T @IT / Low power consumption
(¢©) fAaed = / Quite operation

(d) EIET-T FH HWIUT / Very low maintenance

TflE g W 3¢ 3909 gaT T B A
The wet bulb depression is zero when relative humidity is

(a) 1.0 (b)y 0.75

(c) 0.5 @ o

g arfieorwal & dI9AT FeRm odr § 3R $HIAET & anee fRR @ Smar & oar
weliae o6 &7 COP gem

If the evaporater temperature is increased and condenser temperature is kept constant, the
COP of a refrigeration cycle will

(a) A BEW / Decrease (b) qﬁ' ! Increase
(c) IS I AT / No change (d) @' %F gFa / Cannot say
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717.

78.

79.

80.

wefider womel #F I=aaA a9 8 &

Highest pressure encountered in a refrigeration system should be

(a) weld® &1 R a1 / Critical pressure of refrigerant

(b) Hifaw cag & FIAr S / Much below critical pressure
(¢) wHiTaH &a1F § FHY FIW / Much above critical pressure
(d) wifaw gag & @Fc / Near critical pressure

i@ F § Fi9 & Y81 AT 3UFT 1 TF THR =g ¢

Which of the following is not a type of direct measuring instrument?

(a) FASH T/ Micrometer (b) TR T / Steel rule
(¢) TR FFAW / Vernier calliper d) faHrSF / Divider

T o arg-Sierarsy AT #,

In a saturated air-water vapour mixture, the

(8) YF T F AGART 4 doq F AIA ¥ HUF @ar & / Dry bulb temperature is
higher than wet bulb temperature

(b) FHEEH JATAH dc 969 AT ¥ FH giaT £ / Dew point temperature is lower than wet
bulb temperature

(¢) USH ¢, AT aow I WWE TUAF FAH T § / Dry bulb, wet bulb and dew point
-

temperature are same

(@) YSH Toed B AIA e agA ¥ ¥+ @ar & / Dry bulb temperature is higher
than dew point temperature

Tt & AtewA F aangged 7 aifd giear g

During winter season the processes involved in air conditioning are :

(a) a9 IR AUEEROT / Heating and dehumidification

(b) Mt ¥R FUSEFOT / Cooling and dehumidification
(¢) et 3T EFIOT / Heating and humidification
(d) %ad MEEOr / Humidification only
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